) HERGE 7 —HERFE BRC S (5 Fn45-1 A)

TEFH WL (1)
ABF 3,147.91
Loy LT BESE
e S S B4 3.022.27
CEJF 598.46
= »—& SHI = ol %\:I!—l:% {EUE1ﬁ 4 it 3
AE4F | R4.1.31 1147
PRIBEH AR (°C) TATF B54F | R4.1.30 1050 1,200LLF
CEJ4F | R4.15 %1
N o ASJF | R4.1.31 169
@%ﬁ;’ﬁ rg‘{égw% ”@? g’ Y pegm [TRAT30 180 20080 F
CHIF R4.1.5 176
] o AE4F | R4.1.31 0.8
%fg?pfg; RRfLiR f 22 BE4E | R4.1.30 1.3 1081 F
CE4F | R4.15 1.3
X1 VERMFN, BVE PR D 7260 ) E A HE
it 75 FIT EEE2{T-o7-8EHH
AFIR R RS K O/ 1~T
AENEE | HEH AL SR B&4A IR AR bR 2= M UM /31
c:j{ﬁéw:a;t“u CADRE CHE¥F IR R 2 M O /6~31
ET-TEA R o AR R 2 0N/ 1~T
WA B R L Ot/
CHIF R 2R KON /6~31
BEH AR DXZ A A2 L HE R T
— SHI T i Jte A - ;/‘El e o N
=5 5k B PELE R P g
ABJF | R4.1.17 | R4.3.8 0.0024
AN — o .
(ng-TEQ/m*N)* Ji 52 BE4F | R4.1.18 | R4.3.8 0.0000018 0.05LL F
CEYF _
¥ TEQ: #AA XL AT 2 RN D HT-80 . bR A A AHELT-H D
HEAT AT D I EV E R
= JRIl == A5 e Z 7\H SHIl == ¢, = 2
5 4 s PRLE Bl o
VU A (g/m°N) 0.01LAF
{7k #&(ppm) 10LLF
Ui s AFHF
= R L (ppm) ~ 7 500 T
i s R4 (ppm) L0LLF
IEV U A (g/m°N) 0.01LAF
{7k #&(ppm) _ 10LLF
iz BE4F
=R L (ppm) ~ ” 500 T
i s R4 (ppm) L0LLF
IEV U A (g/m°N) 0.01LAF
{7k #&(ppm) _ 10LLF
JEES Cap
= R L (ppm) ~ ” 500 T
i R4 (ppm) _ L0LLF




